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Question No. 1

T 17 Rewedt § ¥ TS H g

A) B)

) D)

Find the ODD one out from the given options.

A) B)

0 D)




<

Answer Key : C Your Response : C (Correct)

Question No. 2

ey aweoy & aifd & Ay Wela 3 =gl A Foa FE&7r a7 F @ H A
ST Bl

A) GSTATT HE&AI B) udlEmgr HEAT

C) | Hear D) RHAT HHH

The sum of the total number of protons and neutrons present in the nucleus of an atom is

known as-
A) Mass number B) Avogadro number
C) Gauss number D) Atomic number
Answer Key : A Your Response : A (Correct)

Question No. 3

e || & ¢ S aAe F w A veadnh miEeEREr iR AR & wr
ITHHT Ud {3 HeToeT q@mT HgFd &9 § fawmmder g

A) #ET I & B) Healfeleh ol fAATSer
C) B Hol [AwS D) dSC HlFde TIGHITCT
BrahMos Il is a currently under joint development by Russia's NPO

Mashinostroyenia and India's Defence Research and Development Organisation.

A) Main battle tank B) Subsonic cruise missile
C) Hypersonic cruise missile D) Light Combat Aircraft
Answer Key : C Your Response : C (Correct)
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Aofr Fr quT |

31, 29, 24, 22, 17, (.)

Complete the series.

31, 29, 24, 22, 17, (...)

A) 13 B) 12
C) 14 D) 15
Answer Key : D Your Response : D (Correct)

Question No. 5

518 § fFg 9Ear & aifts e §7?
A) 200 B) 240
C) 156 D) 172

Which of these numbers has the most number of divisors?

A) 200 B) 240
C) 156 D) 172
Answer Key : B Your Response : B (Correct)

Question No. 6

it W FE&AT A QT 91w e @ wafedd S & qOT efr?

A) 57 B) 50
Lo g sy e — o PO m— g OB ) _,}‘?/ ]




Which number will best complete the relationship given below?

13:38:17:7

A) 57 B) 50

C) 53 D) 55

Answer Key : B Your Response : B (Correct)

Question No. 7

TreAar # g & &I o379 Al

A) 31e 3R [OT i B) §HRL 3R UL T 2ATg

C) gAY 3R R e gl D) &eX 3R 0T Ao

The battle of Khanwa was fought between-

A) Akbar and Rana Sanga B) Humayun and Nasiruddin Nasrat Shah
C) Humayun and Sher Shah Suri D) Babur and Rana Sanga
Answer Key : D Your Response : D (Correct)

Question No. 8

Ife fAfRET Hesmam #, 'put tir fin' FT Adelw 'delicious juicy fruit' § , 'tie dip sig' T HAdew
'beautiful white lily' &, 'sig lon fin' & #Hceld 'lily and fruit' &1 34 Feomr & fA=faf@ad & @
forger A 'and' BT?

A) fin B) lon

C) tir D) sig

In a certain code language, 'put tir fin' means 'delicious juicy fruit', 'tie dip sig' means 'beautiful
white lily', 'sig lon fin' means 'lily and fruit. Which of the following stands for 'and' in that
language?

A) fin B) lon

C) tir —
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Question No. 9

faefaf@a & @ fFa & g A WEsElfAE orar & §9 7 S S §?

A) O- B) A

C) AB D) B

Which of the following blood groups is known as the 'universal donor'?

A) O- B) A
C) AB D) B
Answer Key : A Your Response : A (Correct)

Question No. 10

?mﬁwﬁﬁ@ﬁwﬁgﬁ,m?ﬁﬁﬁcmﬂaﬁﬁwm
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Choose from the alternatives the figure that best completes the
pattern given below.

v t
/ o X +
Q
/N +
Q +[+ 0
0 o
A) B)
+ O
0 X+
A © +
0 , D)
+ o
o
Q +
Answer Key: A Your Response : A (Correct)

Question No. 11

8 Wl ST el Uk Jedd & 3T IHH IR FT T FA U I T TR T FH &G AT
sl

A) 64 B B) 144 {2
C) 136 T D) 128 @2

Find the area of a square inscribed in a circle of radius 8 cm.

A) 64 cm? B) 144 cm?
C) 136 cm? D) 128 cm?
Answer Key : D Your Response : D (Correct)

Question No. 12

m Qam w %‘?f T AT o I T — o S Qe m— e A ) _:;?,/ ]



C) ITABST & ATEIH T T D) 3ferareteT & 3ufeafa & w@aae

What is aerobic respiration?

A) Respiration through skin B) Respiration without molecular oxygen
C) Respiration through gills D) Respiration in presence of oxygen
Answer Key : D Your Response : D (Correct)

Question No. 13

Aofr Fr quT |

5, 4, 6, 15, 56, (..)
A) 283 B) 271

C) 275 D) 253

Complete the series.

5, 4, 6, 15, 56, (...)

A) 283 B) 271
C) 275 D) 253
Answer Key : C Your Response : Not Answered

Question No. 14

cos? A - sin* A T AT AT AT
A) sin? A +cos? A B) cos2A

C) o D) 2

Find cos? A - sin? A.

P2 2 [ o0,
A) Sin A +CO0s A Iy o o PGS m— S (WA ) _I'.]y / |



Answer Key : B Your Response : B (Correct)

Question No. 15

ofy frelt o2 fr S gE & 64 e ¥ ag Ao € O 97

A) B)
3 16
32— fFae — e
11 11
0 D)
32 5
— 17— F=e
11 1

How much does a watch lose per day, if the hands coincide every 64

minutes?
A) B)
8 16 .
32— minute — minutes
1 minutes 11
0 D)
32 . 5} .
ﬁ minutes 17— minutes
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Question No. 16

qftter & arg, Ierer dleg R F ST dewr gdem @ Wwar § AR IeT @ Sar ¥ @

gl ST gl
A) TgAT HT Fedr e B) TgHAT dr faRdsT raedr
C) TgAT ¥ &TIeT rawaT D) dfe &r gYeT 3raE

Atfter full moon, the next fourteen days where the moon grows thinner and thinner and becomes
invisible is called as

A) Increasing phase of the moon B) Growing phase of the moon
C) Waning phase of the moon D) Waxing phase of the moon
Answer Key : C Your Response : C (Correct)

Question No. 17

Rw v fwedt F & 3w F A
A) 885 B) 695
C) 489 D) 395

Find the ODD one out from the given options.

A) 885 B) 695
C) 489 D) 395
Answer Key : C Your Response : C (Correct)

Question No. 18

T "R 400 FRer g7 U U T AT 3T 60 Frli/eer Hr G ¥ R el §U HETT g1 R
30 fAse & aTg, qforw 80 fereli/der #r =ier ¥ ST HET YE FCh &1 UK & G S o
IO @RI o #T aS g¥r fhcer grefr?

A) 120 faafr B) 70 faafr
C) 90 far D) 85 fair

A thief acranece in alTTTTTTTTTTTTE 7. 'nlv aftar RN minitac



is caught?

A) 120 km B) 70 km
C) 90 km D) 85 km
Answer Key : A Your Response : Not Answered

Question No. 19
HEAT 3675149 # '5' & AR 3R 3ifhd AT & S &7 IR AT AT
A) 495 B) 5000

C) 4995 D) 4990

What is the difference between the place and face values of 'S’ in the number 36751497

A) 495 B) 5000
C) 4995 D) 4990
Answer Key : C Your Response : C (Correct)

Question No. 20
78 ¥ R Qe 1 ggell IR 1990 3 vRRS Wl 7 miAer fFar s=r ar?
A) Ul B) Fagar
C) ureRfaftrear D) T

In 1990, which sport was introduced in the Asian Games for the first time?

A) Triathlon B) Kabaddi
C) Power lifting D) Snooker
Answer Key : B Your Response : B (Correct)

Question No. 21

30 wee 7 T Fue R § 3R 3% A o sy Re aw §) 9ws ey O St adeea w9
¥ w9 3ugEd R




1) 3o #Fag el &l
2) I FlewreT s &
3) ¥ e~y faroel
forsent:

|. Fr Prerhrcn I &

II. & Ae=TE FreTenrar &7 Bl
A) frsd | 3R 11 gt € 3ageEd £ B) aer foisay | 39 ¢
C) whael sy Il 3ugerd Bl D) & ey | & Il 3uged B

In this question, three statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) Some Mumbai is Delhi.
2) Some Kolkata is Mumbai.
3) Some Chennai is Delhi.

Conclusions:
I. All Kolkata is Chennai.
Il. No Chennai is Kolkata.

A) Both conclusions | and Il follow B) Only conclusion I follows
C) Only conclusion Il follows D) Neither conclusion | nor Il follows
Answer Key : D Your Response : C (Wrong)

Question No. 22

AR & 5T FeenfAd Ueer J TaIdr UsT UaEAT I8F 87
A) S9Te B) &« 3R &g

SN T 1 Lo g sy e — o PO m— g OB ) :7 ]




In which of the Union Territories does the Panchayati Raj system NOT exist?

A) Chandigarh B) Daman and Diu
C) Delhi D) Dadra and Nagar Haveli
Answer Key : C Your Response : C (Correct)

Question No. 23
frfaf@a & & frw afaifrar & srgaemeier a@or Serer €7
A) 3CATATRIOT JTATHIT B) 3iferaiTenior
C) 3raeiaur AT D) 3o

Which of the following reactions produces insoluble salts?

A) Neutralisation B) Oxidation
C) Precipitation D) Reduction
Answer Key : C Your Response : C (Correct)

Question No. 24

S & ar & ¥ A% gl F tEw-gEy F A1y FAAR AT AT §, o I 93 8 Bl
A) B B) Avf & &
C) §AEIR %A H D) oSl H

When two or more resistances are connected end to end consecutively, they are said to be
connected in-

A) Straight B) Series
C) Parallel D) Line
Answer Key : B Your Response : B (Correct)

Question No. 25




e

| =

|

[} §
co | ba

]

P
o | =

A) B)

) D)

. . 1 _2 T
Simplify:3=+52-4—
plify:35+52-42

A) B)
8 12
C) D)
4 2
Answer Key : C Your Response : C (Correct)

Question No. 26




A) &1 B) &rerm
C) &%he D) el

If 'yellow' is called 'blue'; 'blue’ is called 'white'; 'white' is called 'green’, 'green’ is called 'brown'
and 'brown' is called 'red', what is the colour of 'milk'?

A) Green B) Blue
C) White D) Red
Answer Key : A Your Response : A (Correct)

Question No. 27

ffaf@a & @ Fila a1 e, 20 3R T fhe & IR & AT T arer 99 F7 34
FI QoS 82

A) TIET 3AGHET B) gameT fohereT

C) grfeeh wigar D) arfisrest Hex

Who among the following is the youngest player to play for India in T20 Internationals?

A) Jaydev Unadkat B) Ishan Kishan
C) Hardik Pandya D) Washington Sundar
Answer Key : D Your Response : D (Correct)

Question No. 28

afg axb=a+b+yab , ar 4 x 9 F FAF 7T HfaTT)

A) B)




If axb=a+b+fab, thenfind the value of 4 x 9.

A) B)
29 49
0 D)
20 19
Answer Key : D Your Response : D (Correct)

Question No. 29
& Teel Fr FAIATAnEt F1 F=r Aar & s TfAF a¥ur FT FRT TG §?
A) Fdui(Sliding) B) @d(Vanishing)
C) deat (rolling) D) SeTdArfhar

What happens to the irregularities of the two surfaces which causes static friction?

A) Sliding B) Vanishing
C) Rolling D) Interlocking
Answer Key : D Your Response : A (Wrong)
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9 feAd & aRFT F RAergsT F Aemar srar €, ar I8 & Srar 1
A) e B) &AM

C) el D) 3rereT

o)

When litmus is added to a solution of borax, it turns

A) Blue B) Orange
C) Red D) Pink
Answer Key : A Your Response : A (Correct)

Question No. 31

Aefaf@d Joir & Jod w&ar A fifew|

5, 8, 13, 21, 34, 55, (.), 144, 233
A) 94 B) 91

C) 89 D) 85

Find the missing number in the following series.

5,8, 13, 21, 34, 55, (...), 144, 233

A) 94 B) 91
C) 89 D) 85
Answer Key : C Your Response : C (Correct)

Question No. 32

1.75, 5.6 3iRk 7 & A.{.I(LCM) 3R F.F.IHCF) 71T Fhifaw]
A) 28, 0.25 B) 24, 0.35

C) 28, 0.35 D) 24, 0.25

s oy e e o [0 e o o ) = |



A) 28,0.25 B) 24,0.35
C) 28,0.35 D) 24,0.25

Answer Key : C Your Response : C (Correct)

Question No. 33

RS =3TRE AT H S + T & 9faed & T H =FFd Hfav|
A) 40% B) 75%

C) 20% D) 25%

If S = 3T/2, then express 'T' as a percentage of S + T.

A) 40% B) 75%
C) 20% D) 25%
Answer Key: A Your Response : A (Correct)

Question No. 34

YA SSE@T F 1/4a1 e airae W AR 1/8aT fewr Rsel W @F & & dI6, TH a5 &
U .40 AV TU 1 YOI H 3Hb U Bicwedr AfRw A1

A) .64 B) .52

C) %.100 D) %.80

After spending 1/4th of pocket money on chocolates and 1/8th on pizza, a girl is left with Rs.40.
How much money did she have at first?

A) Rs.64 B) Rs.52
C) Rs.100 D) Rs.80
Answer Key : A Your Response : Not Answered

Question No. 35
e T ForeT & FROT gIell 5

A) TFa B) ¥ea
Lo g sy e — o PO m— g OB ) _:;?,/ ]




'Pneumonia’ is caused by the inflammation of -

A) Liver B) Heart
C) Lungs D) Brain
Answer Key : C Your Response : C (Correct)

Question No. 36

Jcoﬁe- cos28 T HT AT ST

A) B)

cot 6 cosec B 1

0) D)

cos B cogsec B cot B cos 6

Find the value of \l’cotgﬁ -c0s°0.

A) B)

cot 6 cosec B 1

0) D)




cos B cosec B cot B cos 6

Answer Key : D Your Response : D (Correct)

Question No. 37

TS, 30T & AT I 37 &1 ot a¥ g, 9§ 3RT H TN H AR IAT 931 AT| [0 3
e af =1 82

C) 12 D) 27

Raja is three times as old as Arun. Three years ago, he was four times as old as Arun. How old
is Raja now?

A) 15 B) 6
C) 12 D) 27
Answer Key : D Your Response : Not Answered

Question No. 38
T 4$4#2=83iR3$8#2=12¢ A7$6#3="2
A) 14 B) 16

C) 9 D) 11

lf4$4#2=8and3$8#2=12,then7$6#3="

A) 14 B) 16
C) 9 D) 11
Answer Key : A Your Response : A (Correct)

Question No. 39
Lo g sy e — o PO m— g OB ) _:;?,/ ]




F 2 9§ 915 37, ¥.17776 F @lhea Aear Tl AR WUROT s7rer HY T 5% affs §, A gHeEr
& faw @l @1 Hier 9B 82

A) aiT glet & T FIg 6T B) &l Teh TAT gl

C) 30T & D) §Telm &

Arun wants to pay Rs.16000 cash for a colour television and Bala wants to purchase the same
for Rs.17776, due after 2 years. If the rate of Simple Interest is 5% per annum, which of the
deals is better for the shopkeeper?

A) Neither of the deal B) Both are the same
C) From Arun D) From Bala
Answer Key : D Your Response : D (Correct)

Question No. 40

eafer T Hgicd v, T GEF A 3R AT vk ST a1 J9 g7

A) B)

V:\T'{h V:}l'\r

0 D)

v=A/lv v=AV?

What is the relation between the frequency v, wavelength A and speed
v of the sound?

Lo g sy e — o PO m— g OB ) _,}‘?/ ]



v=v/A V=AWV

0 D)

v=A/v v=AV

Answer Key : B Your Response : B (Correct)

Question No. 41

FleT A HEAT A=Y AT v Feer wr Fafeaw ST F qOT FEA?

12 : 46 - 18 : ?
A) 74 B) 70
C) 76 D) 72

Which number will best complete the relationship given below?

12:46::18:7?
A) 74 B) 70
C) 76 D) 72
Answer Key : B Your Response : B (Correct)

Question No. 42

ffaf@d Joft # equieyd eR-aeg Ad hifawl




A) OR B) PF

C) WV D) LK

Find the missing group of alphabets in the following series.

DZ, LA, (...), PK, LP

A) OR B) PF
C) WV D) LK
Answer Key : B Your Response : Not Answered

Question No. 43
sarw fig farafdee™ (BHU) v Tsar #F e €2
A) RIS B) 3ccRidel

C) fgrR D) 3cal weer

In which state is the Benaras Hindu University (BHU) located?

A) Jharkhand B) Uttaranchal
C) Bihar D) Uttar Pradesh
Answer Key : D Your Response : D (Correct)

Question No. 44

MR =18 10 Jofr 3 F=$ 20 Fol ard U Ao F FA AR e gaEh S arer 0%
# gRafdd = & Feig §U Jerd F1 g d Hifsel

A) 25% B) 33.3%

C) 20% D) 35%

Find the percentage of wastage material in converting a cylinder of base diameter 10 cm and

height 20 cm into a cone of equal base, but double the height of the cylinder.
I r s e o P 0 e 510 O = 1




C) 20% D) 35%

Answer Key : B Your Response : Not Answered

Question No. 45

FAT & FArfaf@d gl # & Fla @1 gid P F f qA7ar & T 7 o S s
&

A) fAdeafRdn(economy) &1 &gd B) faf¥addr(certainty) &r f&ga
C) fasuerar(equity) & Rgia D) gfatm(convenience) & frgid

Which of the following canon of taxation is also known as 'ability to pay’ principle of taxation?

A) Canon of economy B) Canon of certainty
C) Canon of equity D) Canon of convenience
Answer Key : C Your Response : D (Wrong)

Question No. 46

a¥ #H ARA A AoT T @RI &TfAqEe Feieor iy fadrs e fmar = o)
A) 2010 B) 2014
C) 2016 D) 2008

Compensatory Afforestation Fund Bill was passed by Rajya Sabha of India in the year-

A) 2010 B) 2014
C) 2016 D) 2008
Answer Key : C Your Response : Not Answered

Question No. 47

el # ¥ Fa da A RegawoneAsar gaifts &2
A) FareT B) sl
C) weRleT D) S




A) Chlorine B) Bromine
C) Fluorine D) lodine

Answer Key : C Your Response : C (Correct)

Question No. 48

Iade o F ATT PiHd W A g5 Teld @l drell Yrr BT, 39ade & 915
[gexoil

A) TET 38T & HATAR B) dshcl g & gl
C) fear forelt faele & D) HCT Blhd & gl

A ray of light appearing to meet at the principal focus of a concave lens emerge after refraction

will be-

A) Parallel to the principal axis B) Through the centre of curvature

C) Without any deviation D) Through the principal focus
Answer Key : A Your Response : A (Correct)

Question No. 49

fRefaf@d & & Sl &1 FgT F Th T 379G 87

A) g B) 3ms@Ede
C) SUTSlleT TASHIcT D) el

Which of the following is a byproduct of soap?

A) Butene B) lIsoprene
C) Ethylene glycol D) Glycerin
Answer Key : D Your Response : D (Correct)

Question No. 50

Rw 1w RFedt #F F T F T
A) €T : deX B) &K : Solel




Find the ODD one out from the given options.

A) Stamp : Letter B) Car: Engine
C) Ticket: Train D) Ink: Pen
Answer Key : B Your Response : B (Correct)

Question No. 51

T T 36 Vs H T Tolehid A IR ol ¢ 3N Toehid W TS T oAiad o 20 Fhs &
IR & &1 I & Fr afa 54 fFEer & O wolewie fr Ga fhder &7

A) 120 #Hrex B) 360 HeX
C) 240 X D) 300 #ex

A train passes a platform in 36 seconds and a man standing on the platform in 20 seconds. If
the speed of the train is 54 km/h, what is the length of the platform?

A) 120 m B) 360 m
C) 240 m D) 300 m
Answer Key : C Your Response : Not Answered

Question No. 52

Tfeaf@a & 9 Fud gaifs amr & RARs 3 gar 82

Which of the following has highest amount of citric acid?

A) Mango B) Banana
C) Grapes D) Lime
Answer Key : D Your Response : D (Correct)

Question No. 53

o TR 16 forl d foU a0 ve Sar 1 e I T £l 4 TRMRE H 3W F1 H @ A




A) 22 fea B) 24 fea
C) 20 fea D) 18 fe=

Six typists can type a given data in 16 days. How many days will 4 typists take to do the same

work?
A) 22 days B) 24 days
C) 20 days D) 18 days
Answer Key : B Your Response : B (Correct)
Question No. 54
fm=faf@a # & =i a1 ve feemrs 872
A) DDT B) VCR
C) HCL D) TNT

Which of the following is a pesticide?

A) DDT B) VCR
C) HCL D) TNT
Answer Key : A Your Response : A (Correct)

Question No. 55
FRAACIA B 3efed foFH T # g5 4
A) & B) 3nfaem
C) dfAeEs D) erid

9

In which state did Bharatanatyam originate?

A) Kerala B) Odisha
C) Tamil Nadu D) Gujarat
Answer Key : C Your Response : C (Correct)
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g 3 PR fr arr 1 fAste & v yarfgd g 8, & gaa 90 & fnaerr 3maer yarRea gem?
A) 60 FerFs B) 30 shered

C) 90 FerFa D) 180 FerFa

If a current of 3 Amperes flows for 1 minute, how much charge flows in this time?

A) 60 Coulombs B) 30 Coulombs
C) 90 Coulombs D) 180 Coulombs
Answer Key : D Your Response : D (Correct)

Question No. 57

Soft &t Qo &

BB, OD, OG, KL, (.)
A) LO B) AG

C) VD D) SS

Complete the series.

BB, OD, OG, KL, (...)

A) LO B) AG
C) VD D) SS
Answer Key : D Your Response : Not Answered

Question No. 58

T AT SR W, 4% I¥F T W 2 9 T JER0T AT $.140 §1 AW AR W A
X AR e It F fov wRgfe sarer IR ArRer s & @i 3R A W

A) %.2.40 B) %.2.80

C) %.1.80 — D) 33




On a certain sum of money, the Simple Interest for 2 years is Rs.140 at 4% per annum. Find the
difference between Compound Interest and Simple Interest on the same sum at same rate and

same period.
A) Rs.2.40 B) Rs.2.80
C) Rs.1.80 D) Rs.3
Answer Key : B Your Response : Not Answered
Question No. 59
ST & T A RAEoEAT Aer §7?
A) T B) S3eRr
C) fawfora D) @ e

Which of the following is a viral disease ?

A) Measles B) Beriberi
C) Syphilis D) Rickets
Answer Key : A Your Response : A (Correct)

Question No. 60

fefaf@a Aofr 7 e w& Ja fiEw|

28, 60, 90, 117, (..), 158
A) 132 B) 140

C) 144 D) 136

Find the missing number in the following series.

28, 60, 90, 117, (...), 158

A) 132 B) 140




Answer Key : B

Your Response : B (Correct)

Question No. 61

1 1 1 1
‘ Eﬁiﬁv- I+ -+ _+—+
gol ) 2 4 8 18
A) B)
2 1/50
C) D)
1/22 3
Evaluate:1+ E +£+£ +i + o
2 4 8§ 16
A) B)
2 1/50
o)) D)
1/22 3

Answer Key: A IR = pCt)



Question No. 62

4.55 #iY o 3R 5.25 HieT dlg T M H FA HHR & FaDR Fel TN I §| T
A & If¥FdH SR AT hifav]

A) 21 @#r B) 28 @Y
C) 35 @A D) 25 &

A courtyard 4.55 m long and 5.25 m broad is paved with square tiles of equal size. What is the
largest size of tile used?

A) 21cm B) 28 cm
C) 35cm D) 25cm
Answer Key : C Your Response : C (Correct)

Question No. 63

g 3/11 < x/3 < 711 &, o R=faf@a & & Fla G X' F1 AT & Thar &7

A) 1 B) 0.5

C) 2 D) 3

If 3/11 < x/3 < 7/11, which of the following values can 'x' take?

A) 1 B) 0.5
C) 2 D) 3
Answer Key : A Your Response : A (Correct)

Question No. 64

seequasit & A-HewHE Wit Hr e 3R B=or & o TEel Y I g

A) TR aoT B) & gedfl, & #HWBa (Be He@lthy,Be
Mobile)

C) AEBT MIM D) ¥&iegeMD

WHO has established initiative for the prevention and control of noncommunicable

dicnacace [ e e o o) 7. |



A) AirStrip ONE B) Be He@]lthy,Be Mobile
C) Mobile MIM D) ResolutionMD

Answer Key : B Your Response : A (Wrong)

Question No. 65
gl W Hig & USH 7 Ja T drelr Fohrer FRoT e JahR gehait?
A) FFee & afger B) 3iffieie &r 3K
C) il & aererar 90 3ot W) D) 3ffdrele & g

How will the light rays passing from air into a glass prism bend?

A) As the normal B) Towards the normal
C) Almost at 90 degrees with normal D) Away from the normal
Answer Key : B Your Response : B (Correct)

Question No. 66

Fiead A W AT 30 a9 A ATEIT TH W Sgaa & fQw, e R v g #

|
A) 273 Slsar B) 273 & IOW &
C) 273 "erelr D) 273 & fAiSa &3
To change a temperature on the Kelvin scale to the Celsius scale, you have to the

given temperature.

A) Add 273 to B) Multiply 273 by
C) Subtract 273 from D) Divide 273 by
Answer Key : C Your Response : B (Wrong)

Question No. 67
Ty fBeat av foet dr Fifder i Sehr §, FEar @ 7@, Fin, |

A) ST T & Fe FfATHARNS g B) SIEAT &l ITeledish fead & 318 gidar &
[ e e o o) 7. |




Food cans are coated with tin and NOT zinc because-

A) Zinc is less reactive than tin B) Zinc has higher melting point than tin
C) Zinc is costlier than tin D) Zinc is more reactive than tin
Answer Key : D Your Response : D (Correct)

Question No. 68

& S Ty F A T B

A B
)18 )12

@) D)

How many squares are there in the given figure?

A B
)18 )12




0 D)

Answer Key : D Your Response : D (Correct)

Question No. 69

A 3T B T 3 T AT 3 1 2 §1 GF a¥ SIG Sefchr 3 T AT 80 G| SoThr At 3
foreretr 2

A) 36, 24 B) 27, 18

C) 42, 28 D) 45, 30

Age of A : Age of B is 3 : 2. Ten years hence, the sum of their ages will be 80. What are their
present ages?

A) 36, 24 B) 27,18
C) 42,28 D) 45, 30
Answer Key : A Your Response : A (Correct)

Question No. 70

T g ¥ d g W Bua, M AR m gegeane arell & a3l & &I o9 arem 3TR¥or Sef
& SYHATIE BT Bl

A) 3ot die gl ¢ d B) 3e¥eh afte sl gl &l Jem: d?

C) zo% g & g & elegen: d'2 D) zo% g Hr gy & w1 ¢ oS

The force of attraction between two objects of masses M and m which lie at a distance d from
each other is inversely proportional to-

A) The distance between them : d B) Square of distance between them : d?

C) The square root of distance between them D) The cube of distance between them : d°
- 172

Answer Key : B Your Resli);(')nse :B (Corr(]act)
| IS U e Pt e i Yy o [N m— g I ) oy



IR x+y =118 A 1)+ (1), & R

(STet x 3R y qot wer §)
A) 2 B) 1
C) 0 D) -1

If x +y =11, then (-1)* + (-1)Y is equal to
(where x, y are whole numbers).

A) 2 B) 1
C) O D) -1
Answer Key : C Your Response : D (Wrong)

Question No. 72

Tl e Tt & Wy AfAGRT FE I 39T A E
A) Hferder B) gTSgISteT
C) PIed SBAHTFASS DEGIEEC]
All acids produce gas on reacting with metals.
A) Oxygen B) Hydrogen
C) Carbon dioxide D) Nitrogen
Answer Key : B Your Response : B (Correct)

Question No. 73

afg 200 gy, wfafds 8 =X FW +F 6 T A v @gw Wi
Tha £, ar I 300 EAIT = 9fa T 6 o FH HTh a7

Gigt H ford=r 95T EEm?

A) B)

6 f 5 % Ee)
o Y mmaverm =i e 51 b YT e _,}‘?/




0 D)

4%%3- 7ReA

Iy

If 200 men can dig a canal working for 8 hours a day in 6 days, how

long will it take to dig the canal, if 300 men work 6 hours per day?

A) B)
R
6 days 5= days
3
o) D)
2
4§ days 7 days
Answer Key : B Your Response : Not Answered

Question No. 74

NH3 3 s1Selsial dr HAIsTehdr e &2
A) 1 B) 4
C) 3 D) 2

The valency of nitrogen in NH3 is-

A) 1 B) 4
C) 3 D) 2
Answer Key : C Your Response : C (Correct
y = o= -.mdrﬂfﬂ-ﬁ‘?ﬁn&%%-;—-ﬁm&zerm__—'-_% )



Question No. 75

Joft s 7 33 3Q 3R 6 Q F gl Fr IRumdr gfader F=r gem?

A) 12 Q B) 2 Q

C) 90 D) 16 Q

What is the resultant resistance of 3 Q and 6 Q resistances connected in series?

A) 120 B) 2Q
C) 9Q D) 16 Q
Answer Key : C Your Response : C (Correct)

Question No. 76
g1 & FidT W AR FATTT: Ao garT herr §7?

A) diferar B) & AT
C) Fafa D) wifear

Which of these diseases is usually transmitted by mosquitoes?

A) Jaundice B) Chicken pox
C) Malaria D) Arthritis
Answer Key : C Your Response : C (Correct)

Question No. 77
AR & Ge STeilel Sl UG fAe=ifaf@d # & e ganr giera fhar amr ar?
A) ART WHR AT, 1935 B) =X ifafaus, 1813
C) =X 3ifafazs, 1833 D) #IRd & Tsgure Taferge, 1858

Which of the following created the office of Governor General of India?
A) Government of India Act, 1935 B) Charter Act, 1813

C) Charter Act, 1833 D) Governor of India Act, 1858
__ —~ | IS U e Pt e i Yy o [N m— g I ) ,g/ ]




Question No. 78

f@roT @ R Hg W, TH F Tolom Y& fmar 3 30 A To@ F Ig A¢ {3 IAT TF 25
HieT Tror 3R a1¢ FzT 30 AT Tl g8 e TRIAF FRufa § Rrcelr g 3 fr Rer & 82

A) 30 #ex, & B) 25 #iex, qd
C) 39 YE3CH foig W D) 25 #iex, afRaH

Facing towards south, Ram started walking and turned left after walking 30 m. He walked 25 m
and turned left and walked 30 m. How far and in which direction is he from his starting position?

A) 30 m, east B) 25 m, east
C) At the starting point only D) 25 m, west
Answer Key : B Your Response : B (Correct)

Question No. 79

T & & Sl a1 Ja@s K i et & FRor gar g2
A) I&Fd & U STH I Taheldl B) f8& &hr 3maRuaaar

C) dfEenriy (Neuritis) D) MR H sAFCIATE T Folall

Which of the following occurs due to deficiency of vitamin K?

A) Failure of clotting of blood B) Non-maturation of ovum
C) Neuritis D) Blastocyst formation in uterus
Answer Key : A Your Response : A (Correct)

Question No. 80

R AR Fevard # [T, Tel, Fohe 3R I AHF TR 37AT-3HeT9T S/ &2
A) FRTTe B) T

C) ST D) cudreR

Which Indian waterfall has four distinct falls namely Raja, Rani, Rocket and Roarer in it?

A) Athirapilly B) Hirni
Iy o o PGS m— i (A )




Answer Key : C Your Response : Not Answered

Question No. 81
af& BOOK-PEN = 8 &, af PEN-NIB = ?
A) 10 B) 6

C) 8 D) 12

If BOOK-PEN = 8, then PEN-NIB = ?

A) 10 B) 6
C) 8 D) 12
Answer Key : A Your Response : A (Correct)

Question No. 82
ALY Fo TIHR SaRT YT T 1§ FEIHA JaT TRART Astolm faest ¥ Fed deiftra §2
A) 3% &7 @ FHGAN T & Al Jarsi @ B) ¥k & § HAGK o & Fal H HE

&Y Irel 200 &t &1 o) Rrer
C) 3 ® @ FHHGN I HI osfhal @ D) 3Nhd §T § HHAR T & AT Jarsil
ediT ggraar g¥ arel 100 feeT &1 TSR

Mukhyamantri Yuva Swabhiman Yojana launched by Madhya Pradesh government is
associated with-

A) 200 days of employment every year to B) Free education to the children from
urban youth from economically weaker economically weaker sections
sections

C) Financial support to the girls from D) 100 days of employment every year to

economically weaker sections urban youth from economically weaker
sections
Answer Key : D Your Response : D (Correct)

Question No. 83

~

(1 - COSZ 9\((:0‘[29 +F I e — o PO m— g OB ) _,}‘?/ ]

)



A) sec®0 B) O

C) 2 D) -2

Find (1 - cos? 6)(cot?0 + 1) - 1.

A) sec?0 B) O
C) 2 D) -2
Answer Key : B Your Response : B (Correct)

Question No. 84

30 Tooed & T99 W, SN AHHid H 99T [ (?) & TUa W ™
I % T wafeas 39w &l

484 576 225 289 64 100

69 y " 97
529 - 956 81
A) B) 41
53
o)) 48 D)

=1

ot




Choose the alternative that best replaces the question mark(?) in the

given figure.

184 576 225 289 64 _ 100

69 27
529 256 81
A B
) ) 41
53
C D
) 48 )
57
Answer Key : C Your Response : C (Correct)

Question No. 85

ffaf@d 3 & B 2019 #H FONWIT AR T & GFATAdT fHar r=m?

A) defdd AR ey B) TSl SRIAE

C) 3TN FAEHURIT Fehs D) wora H@si

Who among the following was posthumously awarded the Bharat Ratna in 2019?

A) Balwant Moreshwar Purandare B) Nanaji Deshmukh
C) Ashok Laxmanrao Kukade D) Pranab Mukherjee
Answer Key : B Your Response : B (Correct)

Question No. 86

S vere, S FARFT F T R Rar 3AfFar Hr afF Fr For &ar §, 3 AT T S 22

AN — N/~ . IRt iy o s — o [y — i O \.ny/ ]




C) 3curg(Product) D) graRrerss(Inhibitor)

A substance that increases the rate of a reaction without itself being consumed is called-

A) Catalyst B) Reactant
C) Product D) Inhibitor
Answer Key : A Your Response : A (Correct)

Question No. 87
T ST PeTRrRE # & R Qe & e 82
A) e B) &I

C) fw D) Wester

9

With which of the following sports is Mahesh Bhupathi associated?

A) Cricket B) Hockey
C) Tennis D) Football
Answer Key : C Your Response : C (Correct)

Question No. 88

59 W A, UF FUG F a5 ol Ty Ru arw §1 fsemd(sf) v 9o o aiffes &7 & weifts
39gFd Bl

h¥YeT:

"I T & T Fiez HIH 7 3T H" - TF FAGT

SRy

| @eT 9 T & oS e ey, |



II. ST T ST & STFD ST ST &

I, ST Rt F7 Sare & §
A) dad fasay | 3R 1l 39ged gl B) &hdel fosehy | 3ugeFd g
C) del fTsay | 3ugeFd & D) &% & forsehy 3ugard =7gT ¢

In this question, a statement is given followed by three conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
"Use cold cream for fair complexion"—an advertisement.

Conclusions:

l. People like to use cream for fair complexion.
Il. People are easily fooled.

lll. People respond to advertisements.

A) Only conclusions | and Il follow B) Only conclusion | follows
C) Only conclusion Il follows D) None of the conclusions follows
Answer Key : D Your Response : B (Wrong)

Question No. 89

T5 # 6 AT F Hoa W TIE 715 TN A .6 H 5 7T F 7T W Jo9 W ot qrell Wit
TS AT HifeIT]

A) 33% B) 30%

C) 44% D) 25%

What is the gain percent when articles bought at 6 pieces for Rs.5 are sold at 5 pieces for
Rs.6?

A) 33% B) 30%
C) 44% D) 25%
Answer Key : C Your Response : B (Wrong)
~ ~ y ]
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T A H IRAM, 18 $HS §[eT I T @@ & IRAT F efar g1 I 3maa i =ise 45
&, o sHF SFwa AT AT

A) 1360 T SFIS B) 1050 T3 S5
C) 1152 T sH15 D) 1215 adf 15

The perimeter of a rectangle is twice the perimeter of a square of side 18 units. If the breadth of
the rectangle is 45, what is its area?

A) 1360 sq. units B) 1050 sq. units
C) 1152 sq. units D) 1215 sq. units
Answer Key : D Your Response : Not Answered

Question No. 91

T &1 folor fredy frefiRa e &2
A) TOar & &0 @qg 4 B) ATl & Rh &R &
C) & &l I&d THg & D) o gd &

What determines the sex of a child?

A) Blood group of father B) Rh factor of the parents
C) Blood group of mother D) Chromosomes
Answer Key : D Your Response : D (Correct)

Question No. 92

AT RN F FAlg T FOR e Fer AT 82
A) FaTell & ARG B) @iy &I gsfsar

C) =ir &9 D) aid T W

Which is the hardest substance in the human body?

A) Finger nalil B) Skull bones

C) Knee cap T ]

S s = A =Yyl Mol BS =0 g AP il )



Question No. 93

e Rl W47, Sl Rerell g9 & v &g i g ¥ 99 g6 F AT maraw FwAr
STefdl §U $Ue & WIod Br Sl §, 39 el S gl

A) iR faegd aa= B) Seifdcyd &g
C) o9 faegd &3 D) &k faegd @3+

A power plant where the heat required to make steam to drive turbines to make electricity is
obtained by burning fuels is called-

A) Nuclear power plant B) Hydro electric power plant
C) Thermal power plant D) Solar power plant
Answer Key : C Your Response : C (Correct)

Question No. 94

AT gest & 14 7@, 8 AP 3R 7 AP fr WPl # U yawd # way fRaAm I s
TS T 39T 5: 7: 8 §, 3e1ah T I 3e]dleT AT 87

A) 20 : 49 : 64 B) 5:4:4

C) 5:7:8 D) 28 : 49 : 64

Three men entered into a business in partnership for 14 months, 8 months and 7 months. If the
ratio of their profitis 5 : 7 : 8, what is the ratio of their investments?

A) 20:49:64 B) 5:4:4
C) 5:7:8 D) 28:49:64
Answer Key : A Your Response : Not Answered

Question No. 95
3H ARG H TS W, S HeAendd A % @ 5 wew &
mm@mﬁamm
W, 3¢, I




0 D)

Choose the figure that best represents the relationship among the
classes given below.
House, Brick, Bridge

A) B)

o) D)

Answer Key : D Your Response : C (Wrong)

Question No. 96

faf@d IR #F e § 9¢ 3R A Re 1w w2sr #r 3caw &I

315, 91, R, o, e, T9d, A 3R FAR UF god F TRI 3R hg A 3T HE =W
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# 7 8 ¥ e, e F e 3R gE e WA §

Rf@d F & i el F o€ 30T ¥ I T | dor &2
A) &g B) amerdr
C) 37T D) &

Pl N

Read the following information carefully and answer the question given below.

Arjun, Banu, Keerthi, Deepan, Harini, Vasanth, Gayathri and Kumar are sitting around a circle
facing the center. Banu is third to the right of Vasanth and third to the left of Kumar. Keerthi is
fourth to the left of Arjun. Arjun is not an immediate neighbour of Vasanth and Banu. Harini is
not an immediate neighbour of Banu. Gayathri is second to the right of Deepan.

Who among the following is third to the left of Harini?

A) Deepan B) Gayathri
C) Arjun D) Banu
Answer Key : B Your Response : Not Answered

Question No. 97

v fAfRad qft # v AREd @ & a7 fFar S g1 afe smeh g @ S wHa 7 o fRar
ST &, o Sl =Tell T AT A1t HY

A) 3:2 B) 4 :1

C) 2: 1 D) 1:3

A certain distance is covered at a certain speed. If half the distance is covered in double the
time, what is the ratio of the two speeds?

A) 3:2 B) 4:1
C) 2:1 D) 1:3
Answer Key : B Your Response : Not Answered

s gr oy o Srm o G R S e A ) ,J, ]



f=Ifaf@d IR FF &I § 9¢ 3R A RE 1w 92sT Fr 3ca) &I

ad @& L, H, K, T, F, J 3k R 3 & ,USA, @, =ifREr, wig, &9, sireefodr 3ik
StmareT SRt &7 gfafafte A 8, 9% WeTT T 3R Wel, SR alelaid, dRgrel, Asha fe,
eforw, FEpareh, wyaftew 3R edla, & smr dar §)1 cafeedl, & iR Qe &1 Fa @ &
gleTl 3TaRTSF Tl ¢

K drerest & favw d@ie & yfafafica sar §1 T, USA &1 ufafaf®ica sar § e afelater ar
Tswer Yfeer & T g S e Fr wiafafes Far 8, 98 HFaron F #er oar g1 F
dicliaiel # T AT § AT HINAT & faw 781 L vyaead & eefoar & gafaf@ca & gl
St & o fafftcg ar § a8 A F ST Aar g1 J, FIRAGr a1 e & gt @
T 81 R UsWer fEer 7 #1er A g

ol e, Qo 31T 33 & TS F & Sl a1 TE &1 A AT Giar §7?
A) Jfao—sa B) JHa—wma
C) R<faa—wg D) R-faa—ma

Read the following information carefully and answer the question given below.

Seven members L, H, K, T, F, J and R represent different countries in Olympics, USA, China,
Korea, France, Russia, Australia and Japan; each one competes for a different sport, viz.
volleyball, archery, rifle shooting, tennis, boxing, athletics and football. The order of persons,
countries and games is not necessarily the same.

K represents China for archery. T represents USA but not for volleyball or rifle shooting. One
who represents Japan competes for boxing. F competes for volleyball but not Korea. L
represents Australia for athletics. The one who represents Russia competes for tennis. J does
not represent Korea or Japan. R competes for rifle shooting.

Which of the following combinations of member, sport and country are CORRECTLY matched?
A) J—Tennis—Russia B) J—Tennis—France

C) R—Tennis—Russia D) R—Tennis—France
|IFS R, o I mr Vs o P Gy Ak AP ] Iy ]




Question No. 99

A, 'B' #F 25% o7 T €.300 F ATl ST §1 'B' 3H 10% T U 'C' F A= g1 59 e H,
C & T AT, A & T {o & e wfaerd & SR g7

A) 97.50% B) 87.5%

C) 110% D) 112.5%

'A' sells goods to 'B' at 256% profit for Rs.300. 'B' sells it to 'C' at 10% loss. In this sale, C's cost
price is equal to what percent of A's cost price?

A) 97.5% B) 87.5%
C) 110% D) 112.5%
Answer Key : D Your Response : Not Answered

Question No. 100

T AT 30 HeT gfEoT Hr AR T g1 AR, 39 &8 3R H{3H, 98 30 A T g1 W,
T o1 3T FZH, 98 20 M "o gl BT W, Il a1 3 A3, 98 30 HeX =T gl
qE 39 YT &g F Fhce g W &2

A) 80 Hrex B) 30 Hrex
C) 50 #ex D) 20 #ex

A man walks 30 m towards south. Then, turning to his right, he walks 30 m. Then, turning to his
left, he walks 20 m. Again, turning to his left, he walks 30 m. How far is he from his starting
point?

A) 80m B) 30 m
C) 50 m D) 20m
Answer Key : C Your Response : C (Correct)




